
UNESP 1ª FASE – 15/11 

  Questão 70 

 
 

 

ALTERNATIVA D 

𝑺𝒊𝑶𝟐 − 𝒎 =
𝟔𝟎𝒈

𝒎𝒐𝒍
 

𝑪 − 𝒎 =
𝟏𝟐𝒈

𝒎𝒐𝒍
 

𝑺𝒊𝑶𝟐: 

1 mol ----- 12g 

      x  ----- 6 . 𝟏𝟎𝟔g 

x = 0,1. 𝟏𝟎𝟔 mol ou 𝟏𝟎𝟓 𝒎𝒐𝒍 

𝑪: 

1 mol ----- 12g 

      y  ----- 3,6 . 𝟏𝟎𝟔g 

y = 0,3. 𝟏𝟎𝟔 mol ou 𝟑. 𝟏𝟎𝟓 𝒎𝒐𝒍 

𝑺𝒊𝑶𝟐: 𝟑𝑪      estão em proporção estequiométrica 
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Como  

𝑺𝒊𝑶𝟐  𝟑𝑪 𝟏𝑺𝒊𝑪 

𝟏𝟎𝟓 𝒎𝒐𝒍 𝟏𝟎𝟓 𝒎𝒐𝒍 𝟏. 𝟏𝟎𝟓 𝒎𝒐𝒍 

 

1 mol SiC----- 40g 

 𝟏𝟎𝟓 𝒎𝒐𝒍  ----- m 

m = 4. 𝟏𝟎𝟔 g ou 𝟒𝒕 

 

4 t----- 100% 
 𝒛  ----- 75% 

z = 3t 

 

 

 

 

 

 

 

 

 


